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General Instructions :

(i)o. This'question paper contains three parts A, B and C.

(it ~Part A is compulsory for all candidates.

fiii}\ Candidates can attempt only one part of the remaining parts B and C.
(iv) ~ All parts of the questions should be attempted at one place.
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67/1/1

Part-A
(Not for Profit Organisations, Partnership Firms and Company Accounts)
HT-F
(FTETHEHRT TS, WIHGHT BH 7T HH1 W)

When the Receipts & Payments Account is converted into an Income & Expenditure
Account, an accounting concept is to be followed for the provisions of the Accruals
& Outstanding. Name the concept that is followed.

T Wt @& T W W ST SE-ag @ ® fn S @ ot swiea s e
STEIT A F o0 Ueh ST Sore T o1 STRRT foRet ST & | SH HaheoT 1 91 Jared |

Can a partner be exempted from sharing the losses in a firm ? If yes, under what
circumstances ?

T UF WERT HFH | & arel giar § TieR aW | qa st fewa e 7 3 &, a fem
ffeafat 7 ?

Why should a firm have a partnership deed ?
T B | WRIER e 1 8T T 3eva € 2

How is interest on drawings calculated, if the drawings are made at regular intervals,
as on the first day of each month 2

A STRIT G T % THE o St ot § e R £ o o 9 o 3y S
29

Why would an investor prefer to invest in the Debentures of a Company rather than
in its Shares ?

T TaTeR Ueh w1 o 3731 1 3797 RoTasl 3§ (e e i =47 wrefienar < ?

From the'following information calculate the amount of subscriptions to be credited
to thedncome & Expenditure Account for the year 2007-08.

Rs

Subscriptions received during the year 80,000
Subscriptions outstanding on 31% March, 2007 26,000
Subscriptions outstanding on 31% March, 2008 6,000
Subscriptions received in Advance on 31-3-2007 15,000
Subscriptions received in Advance on 31-3-2008. 10,000

Subscriptions of Rs.12,000 are still in arrears for the year 2006-07.
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TfeiEa gaet ¥ 9 2007-08 T 379-509 W & w8 & 31K foradt o arett e |
1137 St T it '

T
T H T | YT A 80,000
31 A/ 2007 B 3_d I 26,000
31 A/ 2008 Hf 37 I 6,000
31-3-2007 i YoRd 9= 15,000
31-3-2008 = @A 7= 10,000

W 2006-07 % 12,000 T9F T= & 147 St THRTE |

7. The Directors of a Company forfeited 200 shares of Rs. 10 each issued“at a premium
of Rs. 3 per share, for the non-payment of the First Call Money of Rs. 3 per share.
The final call of Rs. 2 per share has not been made. Half the forfeitedishares were
reissued at Rs.1,000 fully paid. Record the Journal Entries™for the forfeiture &
reissue of shares. 3

T FHEAT 3 FEEF 7 10 TG UF Aot 200 39, Foeem Fe 3 war wia ofw sifem @
fopa 7ram e, 3 U WA ST9T WU AT AT B AW WS, T 84 0 ST 1 forar 12 v whe
st st ey TR = 50T M E 1 S TR gu ST B o ey 379 1,000 T8 § U e
WY g Fiihe 9% G T | 3 % e R agl §F: M FR % forg Seremren urateedt
FINAT |

8.  Meena Ltd., issued 60.000 shares of Rs. 10 each at a premium of Rs. 2 per share
payable as Rs. 3 on ApplicationgRs. 5 (Incl. Premium) on allotment and the balance
on 1% and final call. Applicationsswere received for 1,02,000 shares. The Directors
resolved to allot as follows :

(A) Applicants of 60.000shares, 30,000 shares
(B) Applicants of 40,000 shares 30,000 shares
(C) Applicants of " 2¢C00/shares  Nil

Nikhil who had apphed for 1,000 shares in category A, and Vish who was allotted
600 sharesdn category B failed to pay the allotment money. Calculate the amount
received.on Allotment. 3

A fefaee 0 w9 Tt 60,000 39 w1 2 T uid 3w wige w5 @ Feies e | f5e
T Ui SR 3 TUIT 3TMEEA W, 5 5U8 (Ngy Efew) sEed W a9 9y 595 uE 1ty are
W& 1 1,02,000 30 F AU 7197 0re g0 | ST A FERER SEes S w5 Heag
T

(31) 60,000 39l F 278! Y 30,000 e

@) 40,000 3¥vi & g H 30,000 3ist

@) 2,000 3T F STAH! H F3 T

Tafger T 1,000 2f9T & fou ot <ar | adeq frar ar 3w fawr W99 8oft = o
600 3791 Tafed fFd M3 & aEres Ui W T A H Y R | AT T TR Y
T T T |
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9. A, B & C were partners in a firm having capitals of Rs. 60,000; Rs. 60,000 and
Rs. 80,000 respectively. Their Current Account balances were A : Rs. 10,000
B: Rs. 5,000 and C: Rs. 2,000 (Dr). According to the partnership deed the partners
were entitled to interest on capital @ 5% p.a. C being the working partner was also
entitled to a salary of Rs. 6,000 p.a. The profits were to be divided as follows :

(a) The first Rs. 20,000 in proportion to their capitals.
(b) Next Rs. 30,000 in theraticof 5: 3 : 2.
{¢) Remaining profits to be shared equally.

The firm made a profit of Rs.1,56,000 before charging any cr thasabove iierns.
Prepare the Profit & Loss Appropriation Account and pass necessary joutnal entrv
for apportionment of profit. 4

B, T AW W UH B H WERR o e O wEe 60,000 775 60,000 T9F T4l
80,000 TUF <t | 3 AR WAl & /Y ‘37" 10,000 T, ‘H5000%3F =<1 7' 2,000 3
(A9) 2 | FEHER! faeE F ER TEER T 5% X R T = T F I 9 |
‘T S FERT WHER &1, Tey 6,000 $92 9% TR & 6 ANEET T w7l W e

frenTar g o

(3 wgw 20,000 T4 ST F U §

@ T 30,000F9F5: 3 : 2 F SAa o
(W) 9 A F T TOeR-5E 3 3T A

IR el off 7% & 0 99K TR & 9F B F 1,56,000 I F AR FAET | STH-21H
faFraism T R ST a9 A % TS 3 EvaE derEr gfafte weem

10. (a) A & B are partners in the ratios of 5 : 4. They admit C for 1/ 10* share. which
he acquires, in equal proporttons from both. Find the new profit sharing ratio.

{b).. A, B & C were partners in a firm sharing profits in the ratio of 8 : 4 : 3. B
retires and his share is taken up equally by A & C. Find the new profit sharing
ratio. 2+2=4
(30) ‘30 T ‘T WHTR & N A B S ; 4 F U | fawifeg A € 13 T T 1/10
3w v #F fore v o v fean, o o <A & SOSR-SER % OO W AT 7 L s
fasTm =1 71 e /@ e |
(&) 37, T qAT T UH EH N UERR & WA R 8 4 3 F ST H AwiE T F
T STIHI TEOT A § T SHEF W & @I I 37 TG T SR A § | A
fervro1 =7 71 STUT | AT
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11. Mona Ltd., has issued 20,000, 9% Debentures of Rs. 100 each of which half the
amount is due for redemption on March 31% 2008. The company has in its Debenture
Redemption Reserve Account a balance of Rs. 4,40,000. Record the necessary
journal entries at the time of Redemption of Debentures.

T feafres 3 20,000, 9% s frifa f7a gT € St TS 100 T T E | IH A o8
O T ¥R 31 TS 2008 FEAT & | FA F HUTIH TEH FY @R H 4,40,000 T A
TG E | RO & Ve & GHY & SAavdeh Yoo Saredt Hig |

12, The following is the Receipts & Payments Account of Queen’s Club for thefyear

ended March 31 2008.
Receipts Rs. Payments Rs.
To Balance b/d 1,82,000 | By Salaries 1,664,000
«  Subscriptions 1,80,000 | » Stationery 32,000
+  Tournament Fund 1,64,000 | » Rent 48,000
« Interest (investments) 65,000 | = Telephone eXpenses 8,000
»  Donations 1,12,000 [ »  Sports Materiah & Exp. 78,000
v Sale-concert tickets 247,000 | » Investments 6% 5,00,000
= Misc, Exp. 24,000
».| Concert Expenses 58,000
v Balance ¢/d 36,000
9,50,600 9,50,000
The following additional information s provided :
(a) Subscriptions include Rs. 12,000 for 2006-07 and Rs. 18,000 for 2008-09.
(b) Stock of stationery on'31% March, 2007 and 2008 was Rs. 7,200 & Rs. 5,400
respectively.
{c) Stock of Sports material at the beginning and end of the year was Rs. 12,000
and Rs,21,000wespectively.
(d) Rent includes Rs. 4,000 paid for March, 2007. Rent for March, 2008 is
outstanding.
(e) " Telephone expenses include Rs. 3,000 as quarterly rent up to May 31% 2008,
(D The value of Building as on 31% March 2007, was Rs. 8,00,000 and you are
required to write off depreciation at 10%.
(g) The value of investments on 31% March, 2007 was Rs. 10,080,000 and the club
made similar additional investments during the year on 1* October, 2007.
You are required to prepare the Income & Expenditure Account of the club for the
year ended March 31% 2008,
67/1/1 5 [P.T.O.




31 A 2008 i FHTT g4 A TN % 70 Tl FoTe hT W Tet ST Wl Aferiad & ;

wTfagt L2 r) YA qq
Terem v 1,82,000 | @ 1,66,000
T 1,80,000 | w9t 32,000
A U 1,64,000 | fean 48,000
=11 (fafaEnm) 65,000 | TE 8,000
TH 1,12,000 | ier 99F 941 = 78,000
T fefre o 2,47,000 | 6% fafam 1 5,004,000
fefterar =1 | /24000,
st = L 58.000
§iy o A TS 36000
9,50,000 9.50.000
iR g FrifeT &

(@) == ™ 12,000 T 2006-07 % @41 18,000 S0 2008-09, 5 WA € |

(F) VYA i 31 TrE 2007 TUT 2008 H FHEY 7,200 T G971 5,400 T A7 |
(W) IeT WU 1 TR A % YRS T o B A 12,000 $99 79w 21,000 T €T |
@ TR T 4,000 579 9 2007 % weier & q8T 918 2008 1 fear e E |

@ TSR =E 3,000 T i (FRe) e 31 W, 2008 g% w5 wia € o
(F) 31979 2007 H WG9 F T 8,00000.F0 9 fT9 | 10% H 3T 4 3 HEATE |

(M 31 9 2007 = & #1979010,00,000 T3 o ¥ A 36 UER & sifaied
Tafrat @1 g a & S0 [ 319geR 2007 ' fwar ar |

31 |/ 2008 T GHTH B9 o7 &N o (o0 e 7 379-599 Wl 44K S0 |

13. X, Y & Z were partners sharing profits in the ratio 3 : 2 : 1. On 31* March, 2008,
their Balance Sheet stood as under :

Liabilities Rs. Assets Rs.
Capitalsy, Rs. Cash at bank 70,000
X 75,000 Investments 50,000
Y 70,000 Patents 15,000
Z: 50.000 1,95,000 | Stock 25,000
Creditors 72,000 | Debtors 20,000
General Reserve 24,000 | Buildings 75,000
Machinery 36,000
2,91,000 2,91,000

Z died on May 31* 2008. It was agreed that :

{a) Goodwill was valued at 3 years’ purchase of the average profits of the last five
years, which were, 2003: Rs. 40,000; 2004: Rs. 40,000, 2005: Rs. 30,000,
2006: Rs, 40,000 and 2007: Rs. 50,000.
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(b) Machinery was valued at Rs. 70,000, Patents at Rs. 20,000 and Buildings at
Rs. 66,000.

(¢) For the purpose of calculating Z's share of profits till the date of death, it was
agreed that the same be calculated based on the average profits for the last
2 years.

(d) The executor of the deceased partner is to be paid the entire amount due by
means of a cheque.

Prepare Z's Capital Account to be rendered to the executor and also a Journal entry

for the settlement of the amount due to Z's executors. 6

U, TS 0T SIS TR & St & 32 2 1 % 3gura | forwiisr e & 1 31 | 2008
3ot fRatg-faerer fretate ar

IRt Tqa |t o3

I g TFE Sk o 70,000
TF: 75,000 ot 50,000
ar: 70,000 Wy 15,000
T 50,000 1,953,000 | @i 25,000
TRR 72,000 | IR 20,000
IHE 98 24,000 | Wa= 75,000
TR 36,000

2,91,000 2,91,000

31 % 2008 i IS T P & T8 | TR P IER g |
() AT H YeIihA AT Uiy At % G WM A9 oY % Y & SIS BT | 7 2003
| 40,000 T, 2004 = 40,000 F92, 2005 T 30,000 39, 2006 H 40,000 TIF &

2007 ® 50,000 ¥9F & |
(@ TEIS HT 70,000 R, YSRHHT 20,000 T TG TG F 66,000 THT W qoain
7o |

(@) WS H G A K T ST F ST B 0 A % Tow Fve o fm ey
1 T o S a6 i oY & ST 9 ERT

(®) TR GIPRR B G 8T G 1 A SE% IS R e BN T A
Siotll

ST F Yo WIS S6e e Fi AT ST 8, R FIAT qur we F e w5 iy g

% YA S, I FiEre Fr |

14. (&) Mohit Ltd., took over assets of Rs. 8,440,000 and liabilities of Rs. 80,000 of
Ram Ltd. at an agreed value of Rs. 7,20,000. Mohit Ltd. paid to Ram Ltd., by
1ssue of 9% debentures of Rs. 100 each at a premium of 20%.
Pass necessary journal entries to record the above transactions in the books of
Mohit Ltd.

(b) Give Journal entries in each of the following cases if the face value of a
Debenture is Rs. 100.
(i} A debenture issued at Rs. 110 repayable at Rs. 100
(i1) A debenture issued at Rs. 100 repayable at Rs. 105
(iii) A debenture issued at Rs. 105 repayable at Rs. 105 3+3=6
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15.

67/1/1

(3N e fafRes = w9 fatads = gmfadr 8,40,000 TUF 79T IARINET 80,000 T9 i TH
fafdas 9o 7,20,000 $98 0 %9 | Aifed fAMEE T 100 T7 T AR 9% HOTIHl
I 20% Wias R fifad o T fEds &1 e @®ar |
IRTT TRAl F @i F A Aifed o, @ gl ° eravas AsmEn nfat
HifFw |

(@ fAfefaa % fAu soavas AT wiated Hifvg aft ue s @y sl e
100 393 ¢
() TP ROH B T 110 TR T R S 100 9 W e a7 |
(i) O T 1 TR 100 T93 | R S 105 T99 W S o |
(iil) U FOT 105 T. | fifaa o e wiaT 105 0@ wEAT o |

A Co. issued to the public for subscription 40,000 shares of Rs. 10 each at a discount
of 10% payable as Rs. 2 each on application, Allotment and First call and Rs. 3 on
the Final call. Applications were received for 60,000 shares/and allotment was made
pro-rata to 80% of applicants. R to whom 1,600 shares were allofted paid only the
application money, and S who had applied for 2,400 shares paid the entire call
money due along with the allotment. Pass necessary Journal entries to record the
above transactions.
OR

Petromax Ltd., issued 50,000 shares of Rsi10 €ach at a premium of Rs. 2 per share
payable as Rs. 3 on application Rsi™$5, including premium on allotment and the
balance in equal instalments over two calls. Applications were received for 92.0w
shares and the allotment was dofie as under :

A : Applicants of 40,000 shares —  Allotted 30,000 shares
B :  Applicants of 40,000 shares ~  Allotted 20,000 shares
C : Applicants of 12;000 shares - Nil

Suresh who hadapplied for 2,000 shares (Category A) did not pay any money
other than application money.

Chandar who was allotted 800 shares (Category B) paid the call money due
along with allotment.

All other allottees paid their dues as per schedule.

Pass necessary journal entries in the books of Petromax Ltd. to record the
above.

TH FHA 7 10 T FTE 40,000 3ie 7 WAAE SvRA & e fetms 10% g2 w e,
et 3TRiEm, JrEe, G YW AT e O 2 U 9YT ST areMT 9 3 SUan gl S99 3
a7 1 60,000 FFH F ToAT WL O WIS g A §0% IAGH F SR MR W G
forar ma | AR FTR 1,600 3tw st 63 T 9, A Saot seRS i w1 € T e
T ug f5E 2,400 3w % fou omeEs R o, seA & 9Hg & |/ gree Rt &
YT &A1 | SRR & Fore simareaes o Rfafeedt sifvg |

FeraT
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16.

ot fafads 3 50,000 9 ® FO9 welE Siw 10 5. w91, 2 T 3ty W it
forar | STl T YA 3 %, AT W 5 T e W ARnIew Fhee qen 99 A0 I IR A
el # 3 AreAe W fRar ST AT 192,000 i % e sveaRe wra ge e srden e
eI TR TR

A ;40,000 39 = SETH H — 30,000 3797 3Eed HU T |
T ;40,000 3790 F TR B — 20,000 39 erEied U @ |
F ;12,000 3 F FEIH B ~ T oy sl e famar war o

o, f 2,000 379 % fow e T o (o «ar) aree ot & sifafie w8
off rfer =@ & W

=% 7, 99 800 2w anEied ey MU (Al W) SR TN & W & AT ART F
YA ot e )

TR Wt Sttt = HfEad g W ST 3 i 7 e e

Yo fafies o et § Suied = oEr $E % {67 STaEes s whatear
FT |

Jain & Gupta were partners sharing profits in the ratio of 3 : 2. Their balance sheet
on March 31* 2008 was as follows :

Liabilities Rs. Assets Rs.
Creditors 20,000 | Cash 14,800
Bills payable 3,000 \Debtors 20,500
Bank overdraft 17,000 | Less: Prov. for
Reserve 15,000 Bad debts _ 300 20,200
Jain’s Capital 70,000 | Stock 20,000
Gupta’s Capital 60,000 | Plant 40,000

Buildings 70,000
Motor Vehicles 20,000
1,85,000 1,85,000

They agreed ‘to admit Mishra for 1/4™ share from 1-4-2008 subject to the following
terms<

(a) w Mishra to bring in capital equal to 1/4" of the total capital of Jain & Gupta
after all adjustments including premium for goodwili.

(b) “Buildings to be appreciated by Rs.14,000 and stock to be depreciated by
Rs. 6,000.

(¢) Provision for Bad debts on Debtors to be raised to Rs. 1,000.
(d) A provision be made for Rs. 1,800 for outstanding legal charges.
(e) Mishra’s Share of goodwill/premium was calculated at Rs, 10,000.

Prepare Revaluation Account, Partner’s Capital Accounts and the Balance Sheet of
the new firm on Mishra’s admission.

OR
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A, B & C were in partnership sharing profits in proportion to their capitals. Their
Balance Sheet on 31-3-2008 was as follows :

Liabilities Rs., Assets Rs.
Creditors 15,600 | Cash 16,000
Reserve 6,000 | Debtors 20,000
A’s Capital 90,000 | Less: Prov. for
B’s Capital 60,000 doubtful debts 400 19,600
C’s Capital 30,000 | Stock 18,000

Machinery - 48,000
Buildings 1,00,000
2,01,600 2,001,600

On the above date B retired owing to ill health and the following adjustments were

agreed upon :

{a) Buildings be appreciated by 10%.

{b) Provision for doubtful debts be increased to 5% of debtors:

{c) Machinery be depreciated by 15%.

(d) Goodwill of the firm be valued at Rs. 36,000 and‘be adjusted rio nz Jioitsd
Accounts of A & C who will share profits in future in theé ratio o7 > © .

(e} A provision be made for outstanding repairsbill of Rs."3,000.

(f) Included in the value of creditors is Rs, (1,800 for an outstanding f2z2 .27
which is not likely to arise.

(g) Out of the insurance premium paid Rs 2,000 is for the next vear. Tre 2o 7
was debited to P & L. A/c. -

(h) The partners decide to fix the capital of the new firm as Rs. 1,20.004 i1 =2
profit sharing ratios.

(i) B to be paid Rs. 9,000 in ¢ash and the balance to be transferred to his Loan
Account.

Prepare the RevaluatiommAccount, Partners’ Capital Accounts and the Balance Sheet
of the new firm after B’s'retirement.

e T T R A e 3 ;2 % e # frid R % | 31 Hr 2008 F
37t TRt faeRon Frfotad o

ERC] R ] weafaat R
FHER 20,000 | %3 14,800
LCRCEE) 3,000 | T®R 20,500
e sifufasy 17,000 | g R0 4= 300
- 115,000 20,200
5t - S5 70,000 | ©iF 20,000
v T 60,000 | 95 40,000

qET 70,000
TreR et 20,000
1,85,000 1,85,000
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frmfetaa vt W, 1-4-2008 & o fFsm st 1/4 7 o 377 & forg srawr 87t % fovw wema g

(3n) foen, 919 @ e @ Wit v et enfs & o dittgg o afifed & % geer
e it T 1/4 | 3 SR Yo7 o 9 H AR |

(@) 95 H 14,000 TIR W TG & T LIF W 6,000 T FEH FRATE |

(@ TER R Y TN & AT e 1,000 TE AF FATE |

(®) FrA T forg ot aret ave €, 1,800 FUR F SR HIATE |

@) T atw et / i & ToET 10,000 $98 R TEE |

e % A9 W THTIET G, WERERT & O @ 991 7 v %1 Rufa-feme Samsitag
Sadar

‘3T, T T W TRGR & A A B ISR O A A ol w3 9 1 31-3-2008 3w
Rerfer-feraor frforfie = -

TR L woraat L)
TR 15,600 | g 16,000
B ED 6,000 | 3R -1, 20,000
LU & 90,000 | — gaq #o7 3ASH 400 19,600
i & 60,000 | ©iF 18,000
i 30,000 | FEIART 48,000

& 1,00,000
2,01,600 2,01,600

IR e = T o SHR & TR HRET IWS SR WeT Rt au fAefeies weaem
™.

(31) T F 10% SFLE |

(@) dfew wol & e, S9ERI # 5% TE HEE

(@) TR R 15%CHE FAE |

(X HH H TG I GEAiT 36,000 T2 T mar, e gaEieE cor 7 v & IS @t
# fergramn st wiasr & omat 31 3 ¢ 1 & ot | fanarfog 63t

@) RO et % T 3,000 T 1 AT FAE |

(%), "SRRI F 1,800 T $T<H A o5 & wftfaa ) sm i R €

(T T i e | 2,000 398 et |9 & fe wftier & o ema-eri @ | A |
frdgud

(F)  WERE A AE B F A 1,20,000 T3 FiEa S 5 S99 oy F Sar J g |

@) T W 9,000 TUF F FFT YA frar SET qar 9y Ik W0 W § WA )
ceisicoll

T % ITAHIY UGUT & ST JHoATHT W1, TR & Ui @it 701 1€ BH 7 Rerfet-faaor
AR FfT |
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Part-B
(Analysis of Financial Statements)
HT -9
(Farhta faawont =1 fageraon)

17. State why non-cash transactions are ignored while prepaning a Cash Flow
Statement ?

Vg vaTe faator duR wa weg silfae A=At @ 30T o S g ?

18.  When is Dividend received considered as operating activity ?

TG ATHIYT Tl A FoaToheiTy dhal Qe ST § 2

19.  What will be the operating profit ratio, if operating ratio is 83.64 % 7
T TITer ST 83,64 % & A TETeT T 33aTT 8 g ?

20. 'What are the importance of Financial Statement Analysis ?

fariie oo faveiew & mexa T E 7

21. Prepare a comparative Income Statement from the following :
31% March 2007 31% March 2008

Rs. Rs.

Sales 10,00,000 12,50,000
Cost of Goods seld 5,00,000 6,50,000
Operating expenses 50,000 60,000
Interestion investments @ Rs. 30,000 and taxes payable @ 50%.
fteTian & qermrens s faeT 3R ST :

31 T 2007 31 W 2008

6, 5.

fersrar 10,00,000 12,50,000
S T WA i AP 5,00,000 6,50,000
YA 49 50,000 60,000

faframi ov sa=1 30,000 399 €, T 50% WAL |
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22. (a) Net Profit after Interest but before tax Rs. 1,40,000; 15% long term debts
Rs. 4,00,000, Shareholders funds Rs. 2,40,000; Tax rate 50%. Calculate Return
on capital employed.

{b) Opening Stock : Rs. 60,000; Closing Stock: Rs. 1,00,000; Stock turnover Ratio
8 times; Selling price 25% above cost; Calculate the Gross Profit ratio. 2+2=4

() N FleA F % 79 T ATH ¥ qF & A 1,40,000 T, 15% LreFwRi #or
4,00,000 94, v FW 2,40,000 T, F F T 50%, Fatsa o R w=g
T I )

(F) VRS = 60,000 93, 1= ©F 1,00,000 99, ik 3nad sura 8 3om, s
o TRTE | 25% Ao, Tt oty 341 61 70T i |

23. X Ltd., made a profit of Rs. 1,00,000 after considering the followingitems :
(a) Depreciation on Fixed Assets Rs. 20,000.
{(b) Writing off preliminary expenses Rs. 10,0000
(¢} Loss on sale of furniture Rs. 1,000,
(d) Provision for taxation Rs. 1,60,000!
(e) Transfer to General Reserve RS, 14,000,
(f) Profit on sale of machinery Rs. 6,000.

The following additional information is available to you :
31-3-2007 31-3-2008

Items
Rs. Rs.
Debtors 24,000 30,000
Creditors 20,000 30,000
Bills Receivable 20,000 17,000
Bills Payable 16,000 12,000
Prepaid expenses 400 600
Calculate Cash flow from operating activities. 6

TG AAT T T W@ g6 U g = 1,00,000 $9- i AT FHHET :
(a1) TS FETEE ) 9 20,000 ¥

(F) VR =4t 1 379ehET 10,000 T4

(@) e T fase @ @i 1,000 Tud

(@) & oW G 1,60,000 T93
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17.

18.

19.

20.

21.

67/111

(@) w HEg % fern SR 14,000 $98
(F) TR o foeha & 79 6,000 T3

et frAferan sl ga sTes §
. 31-3-2067  31-3-2008
m TR v
TR 24,000 30,000
TR 20,000 30,000
e faas 20,000 17,000
CRATRE] 16,000 12,000
M T T 400 600
TEIAH SRATERETl | TS Y8 i AUFT T |
Part-C
(Computerised Accounting)
WRT 71
(rfirr o srares)

What is Coding ?
TareteRoT (e w= e ?

What is a super group 2
IIR-TE (YR Y9) T8 7

List any founbasic systems of computerized accounting system.

NI ATTHT UFTd F B TR ST T a1 |

What is import & export of data ?

HHE & T g e s g ?

What is meant by Internal checks ?

IR S T R Al ST g ?

14
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22,

23.

67/1/1

What are the essentials of a good reporting system ?

U 73t nfaaes ugfa (Rifen fawew) s difvs g s g ?

A factory owner purchases a new machine that costs Rs. 3,00,000 and has a useful
life for 10 years, with salvage value of Rs. 30,000. Indicate the formula to be nsed in
an Excel worksheet to calculate Depreciation under the Diminishing Balance
Method. Also using the formula, calculate the depreciation to be provided for aiday,
a month and a year.

T eyt o @ T A 3,00,000 $99 § 5T -, fAwenr Iught Sieaee. 10 a9 €
FH ITFT IFNN T 30,000 T & | FURE FE 99 g 9 WA F F Y 0
Ve TEREIT B ST &4 7ot T o gWied + T 9 € A SR g0 U A & o v ne
fow a1t o & foe o SR 9T BT e Wi |
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